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Answer all guestions.
All questions carry equul marks.

Only one answer is to be given for cach question.
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[ more than one answers are marked. it would be treated as

WIOng answer.

5. Lach question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or buhble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN.

H. The OMR Answer Sheet is inside this Test Dooklet. When
vou are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question hlank will not be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited, A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

9. Please correetly fill your Roll Number in O.M.R. Sheet.

5 Marks can be deducted for filling wrong or incomplete Roll

Number,

If there is any sort of ambiguity/mistake either of printing or

factual nature then out of Hindi and English Version of the

question, the English Version will be treated as standard.

10.

Warning : Il'a candidate is found copying or il any unauthorized
material is found in hisfher possession. F.LR. would be lodged
against him/her in the Police Station und he/she would liable to be
prosceuted. Department may also debar him/her permanently
from all future examinations.
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A functional eukaryotic chromosome

has

(1) one telomere, one origin of
replication and one centromere.

(2) two telomeres,- many origin -of
replication and one centromere.

(3) two telomeres, one origin of
replication and one centromere.

(4) one telomere, many origin of
replication and one centromere.

In meiosis-I

(1) Duplicated homologous

chromosomes line up
independently at metaphase plate

(2) Unduplicated homologous
chromosomes line up
independently  at  metaphase
plate.

(3) Duplicated homologous

chromosomes pair before lining
up at metaphase plate.

(4) Unduplicated homologous |

chromosomes pair before lining |

up at metaphase plate

Cell cycle is regulated by
(1) Kinins

(2) Cytokinins

(3) Cyclins

(4) Prostaglandins

The acidic pH in the lysosome _is_
maintained by

(1) Guanosine Triphosphate (GTP)

dependent proton pump in lhe'
lumen.

(2) Adenosine Triphosphate (ATP);‘
dependent proton pump On tl'lle__.

membrane.
(3) Hydrochloric acid in the lumen.

(4) Guanosine Triphosphate (GTP)" :

dependent proton pump on the
membrane.
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In muscle contraction, which of the
following is regulatory protein ?

(1)
(3)

Myosin
o-actinin

(2) Tropomyosin
(4) Actin

Match List — T (tissue) with List — 11
(characters) and choose correct answer :

List-I
A. Areolar i
connective
tissue
B. Elastic ii.
connective
tissue
C. Cartilage iii.
D. Adipose iv.
tissue
Code :
A B C
(1) iv il ii
(2) i i iii
(3) ii v il
(4) il i iv

List-11
Reduces heat loss
serves as energy

reserve.
Chondrocytes in
thread like
network of
elastic fibres
within
extracellular
matrix

Provides
stretching of

organs can recoil
to original shape.
serves as
reservoir of water
and salts  for
surrounding
tissues

ii

The haemoglobin of a human foetus
has a lower affinity for oxygen
than that of an adult.

(1)

its affinity for oxygen is the same

as that of an adult.

has a higher affinity for oxygen
than that of an adult.

has no
affinity.

relation

with  oxygen

a
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Match List—I (cells of stomach / digestive
enzymes and hormones) with List — II
(Functions) and choose correct answer :

List—1 List — II
A. Parietal cells i. Responsible for
gall bladder
contraction and

release of bile

B. Pancreatic ii. Increases
lipase motility of
stomach and
relaxes  pyloric
sphincter
C. Cholecy- iii. main triglyceride
stokinin digesting enzyme
in adult
D. G-cell iv. secrete intrinsic
hormone factor & HC/
Code :

(1) i v ii i
(2) i i i iv
(3) iv il i ii

(4) i i v

In man, deciduous teeth begin to erupt
through ﬂié'!'}éi—i;r;is at about

months_ and a set of teeth is
Usuallf_:,ébfn'};letely formed by the age
Of___:__:;_____ years. ;
(1) (1,18, | o
(2) 3,36,3 &

(4)73, 24, |
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11.

Depolarising phase of action potential

or impulse is characterised by

A.

The negative membrane potential
becomes less negative, reaches

zero and then become positive.

Voltage gated Na* channels open

and Na* ions rush into the cell.
Voltage gated K¥ channels open
and K* ions flow out.

Membrane potential temporarily
become more negative than the

resting state.
A, B
C.D
A, C
B.D

Which of the following is not correct ?

(1

(4)

Tidal volume — Amount of air
involved in one normal inhalation

and exhalation

Inspiratory reserve — Amount of
air beyond tidal volume that can
be taken in with deepest possible

inhalation
Expiratory reserve — Amount of
air that remains in the lung after

forceful exhalation

Vital capacity — Sum of tidal
volume, inspiratory reserve and

expiratory reserve

a
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Match List — I (formed clements in

blood) with List — II (Functions) and

choose correct answer :
List — 1

A. Erythrocytes i,

B. Neutrophils ii.

List— 1T
Phagocytic
Resist infection
Secretion of
Histamine,
Serotonin and
Heparin,
involved in
inflammatory
reactions

B

. Basophils iii.

D. Eosinophils v, transport of

respiratory gases

E. Thrombocytes v. blood clotting

Code :

A B C D E
(1) iv i i i v
(2) ii i i \ v
(3) i v il v ii

4) v i iv il 1
Which  statements  are for
juxtamedullary nephrons ?

A. Their renal capsule lie in the outer
portion of cortex.

B. They have short loop of Henle
that penetrate only into the outer
region of medulla.

C. Their loop of Henle receive blood
supply from peritubular
capillaries anu:lr vasa recta.

D. They make up~15-30 percent of

total nephron.

SIbEs TS

They have“a thin segment and a

thick_segment in their ascending

limb of loop of Henle.

é.’cg, C

C,D,E

B,C,D

AE,B

]

true

.rl'j

(1)
(2)
B3)
(4)

]|
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What is not true with reference to
cytotaxonomy ?

(1) Comparative studies of
chromosomes is  used  for
classification

(2) Each plant and animal species has
a definite number of

chromosomes in its cells.

(3) Based wupon similarities and
dissimilarities in  biochemical
composition of a species.

(4) Characters of the chromosome are
helpful in determining
taxonomical position of a species.

The innovation that freed vertebrates
from being tied to water for
reproduction and allowed them to
radiate  into  diverse terrestrial
environment, was the development of
(1) Bony appendages

(2) Placenta

(3) Cleidoic egg

(4) Wings

Metamerism characterises all except

(1) Number of segments is generally
constant for each species.

(2) Growth occurs due to simple
elongation of pre-existing
segments

(3) All segments are of the same age
and at the same stage of
development.

(4) Segments are independent and
self contained units.

Which one is not a function of

Leutinizing Hormone (LH) in females ?

(1) causes ovulation

(2) converts ruptured ovarian follicle
into corpus luteum

(3) stimulates secretion of
progesterone by corpus luteum

(4) the shortening and opening of
cervix

o
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The classification of class reptilian is
based on the features of

(1) Skull

(2) Limbs

(3) Skin

(4) Reproduction

Mendel’s  law  of
assortment refers to

(1) In a dissimilar pair of factors one
member of a pair dominates the
other.

When two pairs of trait are
combined in a hybrid. segregation
of one pair of characters is
independent of the other pair of
characters.

Alleles do not show any blending.
Both characters are reappeared in
F, generation, though one of these

independent

(2)

(3)

is not seen in F, generation.

(4)

Alleles  show blending in F,
generation and characters are

reappeared in F, generation.

The marriage between a normal
woman and a colour blind man, in F,
generation, produces normal sons and
carrier daughters. If this carrier woman
is married to a normal man the F,
generation will produce

(1) all normal grandsons

(2) all colour blind grandsons

(3) 50% colour blind grandsons and
50% normal grandsons

50% normal granddaughters and
50% colour blind granddaughters.

4)

The movement of a gene from one
linkage group to another is called

(1) Inversion
(2) Duplication
(3) Translocation
(4) Crossing over
ol
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The

chromosome is

unit  of crossing over of

(I Cistron
(2) Muton
(3) Recon

(4) Operon

In Nullisomy chromosomal composition

is represented by
(1) 2n-1
(2) 2n-2
(3)
4)

2n+ 1

2n+2

Which is not used in Bouin's solution ?

(1) Saturated aqueous solution of

picric acid
(2) Mercuric chloride
Formaldehyde

(4) Glacial acetic acid

Linkage as the distance

between two genes

(1) decreases, decreases

(2) unaffected, decreases
(3) decreases. increases

(4) increases, increases
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29,

Which is not a decalcifying agent ?
(1)
(2)
(3)

Aqueous nitric acid 5-10%
Aqueous formic acid

Aqueous Ethylene diamine tetra
Acetic Acid (EDTA)

(4) Aqueous Ethanol
A refrigerated cabinet in which a

special rocking  action

microtome is used is called

rotary

(1) saw microtome
(2) base-sledge microtome
(3) cryostat

(4) sliding microtome

The most commonly used acidic dye is
(1) Eosin

(2) Methylene blue

(3) Carmine

(4) Haematoxylene

Match List-1 (Chemicals) with List-I1

(Steps of tissue processing) and choose
correct answer :

List—1 List— 11

A. Zenker’s i.  Dehydration
solution '

B. Ethanol ii. Clearing
C. Xylene iii. Embedding
D. Paraffin iv. Fixation
Code :

A B C D

i i i v
2) iv i i 1
(3) i Qv i i
(4) 1v i 1 i1
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Chromatography is not based on

(1) Distribution / Partition coefficient
(2) Separation of one solute from
other  constituent by  being
captured on the adsorbent.
Different rate of movement of
solvent in the column.

Intensity of light

(3)

(4)

Silica gel-G is used in

(1) Adsorption chromatography
(2) Paper chromatography
(3) High Performance
Chromatography (HPLC)
Gas-Liquid Chromatography (GLC)

Liquid
(4)

The most common type of gel used for
DNA separation in Gel
Electrophoresis is

(1) Ethylene glycol

(2) Sulfadiazine

(3) Agarose

(4) Silica gel

Match List — I (Staining Technique)
with List — [T (Study of Biomolecules)
and choose correct answer ;

List -1 List —II
A. Sudan i. Fats
HI/TV/Black
B. Periodic acid ii. Polysaccharides
Schiff’s
C. Sodium iit. Calcium
Alizarine
Sulphate
D. Azodye iv. Alkaline
phosphatase
Code :
A B C D
(y i i v il
(2) i i i v
(3) iv i i i

@ i i i v
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(1) wepfees R Hi guifer mifts

(2) HR Fet fafqe = 9@ a1 gemE

(3) $lm =77 ganfera grar 2 |

(4) Sfiet vd wael $i fafauar srefis
Bifaa

afewgdr =1 from farg fear -
(1) eifam

(2) HHE

(3) A

(4) HH=R

1.371. 8. oA 1 |y fafy &
(1) “rTenss fafe

(2) T=enfem fafy

(3) S-Teaeta .37 21 whem
(4) UEhifeiar 3101 fafy

1.3, wdien § gay gy sty

(4) Toes smem

feifafea  siper ayem § wme

ferarer <61 mor Hifse
8.5,4,12,15,5.7

(1) 4.08

(2) 5.20

(3) 3.80

(4) 4.50

38.

Which  one is not true for

agroecosystem ?

(1) Natural solar powered ecosystem.

(2) Auxiliary energy needed to
augment or subsidize the solar
energy input.

(3) Artificial selection operates.

(4) Diversity of organisms and crops
is greatly reduced.

Law of Tolerance is given by
(1) Liebig

(2) Shelford

(3) Naveh

(4) Schumacher

Common method of BOD estimation is
(1) Gravimetric method

(2) Phenanthroline method

(3) 5-day BOD test

(4) Ascorbic acid method

The most common interference in
COD analysis is

(1) Halides

(2) Dichromates

(3) Sulfates

(4) Silverion

Calculate standard deviation from the
following data set :
8.5,4,12,15,5.7
(1) 4.08
(2) 5.20
(3) 3.80
(4) 4.50
ol
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40.

41.

42,

43.
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wefierd weie g ffda argenieifa 2
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Sframupati i fareelt = geeeg 1 foreeft
T = &) il & SR A @A R

(1) Tmsifafys
(2) Ir=afifea TEA
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e gifagfd =1 ftom 2
(1) 9IysT
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(3) ety feera
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41.

FN
o

g
W

Mycotoxin produced by Aspergillus
flavus is

(1)
(2)
(3)
(4)

Aflatoxin
Ergot alkaloids
Amanitins

Alkaloid slaframine

Which microbe produces “Geosmin™
which gives soils their characteristic
earthy odour ?

(1)
(2) Nocardia

Arthrobacter

(3) Streptomyces
(4) Cellulomonas

Silica may present in cell wall of
(1) Gram positive bacteria

(2) Diatom

(3) Ascomycetes

(4) Basidiomycetes

Bacterial membranes usually differ

from eukaryotic membranes in lacking
(1) Glycolipid

(2) Integral protein

(3) Peripheral protein .

(4) Cholesterol

Factor compensation results in
(1) Ecotypes

(2) Ecotone

(3) Resistance stability

(4) Resilience stability
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48.

SHEN ® Yefid @ 7 ey
edfastor foam o wad 3

(1) =qu fe=

(2) fageH avs fay

(3) =gl avg fam
(4) fafewm eve fay

FE-gif ( wlieqor) o1 g7 2

(1 =Y. ( Jz

(2} XZ _

(B) 2= Z( 12

1 4 9 = T g wig T 2 2
(1) AT

(2) =1gfem

(3) BI3THFA

(4) fermiem

ﬁmﬁﬁaﬁ:m%ﬁa‘ﬁaﬁ.@.q.
QT 7 8 7

(1) €i.u3.u. uifamis |
2) LuA.u. gifens 11
3) HiHe! yfepuas;

(4) 210U, ifemts o

(1) T e s
(2) STEHY

(3) T HRF Faa) J
(4) YT eped &

The diagram to show graphical
representation of population is

(1) Pyramid diagram
(2) Deviations bar diagram
(3) Multiple bar diagram

(4) Duo directional bar diagram

The formula for Chi-square (x>-test) is

(1) x3=Z(d_TdJJ

c

Which of the following is structural
fibrous protein ?

(1) Elastin

(2) Chitin

(3) Fibronectin

(4) Lipoprotein

Which of the following s
Prokaryote DNA polymerasc ?

(1) DNA polymerase |
(2) DNA polymerase I
(3) Kornberg enzyme

(4) DNA polymerase «

not

“YM shift” is related to

(1) Disease causing bacteria
(2) Lichens

(3) Disease causing fungi
(4) Algal bloom

o]}
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(4) fefoga

Fzgasu1 Haed dehdieh fhHeh fasfthehtoT
% % 311 8 e /% e

(1) 9I&A

(2) STEHETSTEH

(3) HEEESS

(4) ARG

frafafga s @ge & Al
.4.5.3,7,9,8.6

2

N

(1
(2)
(3)
(4)
T S B dE # Hed & fauae
1 T R TR 7

(1) HTgRIEY (Yewaei)
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52,

53.

54.

The technique “Western blotting”™ is
used to identify

(1) DNA
(2) RNA
(3) Proteins
(4) Lipids

Electrophoresis is used for separation
of all except

(1) Proteins

(2) Isoenzymes

(3) Carbohydrates
(4) Lipoproteins

Find the median of the following data
set :

2,4,5
(5
() 5
(3) 4
(4) 4.5

:3,7,9, 8,6

For section cutting in Biopsy, which
instrument is used ?

(1) Microtome
(2) Centrifuge
(3) Densitometer
(4) Colorimeter

Hip joint is an example of
(1) Hinge joint

(2) Synovial joint

(3) Cartilageous joint
(4) Saddle Joint

PCR and ‘Restriction Fragment length
polymorphisms’ are the methods for

(1) Study of enzymes
(2) Genetic transformation
(3) DNA sequencing
(4) Genetic finger printing
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(3) v v i i i
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FABIURT hY fialt freeht A e 2
(1) CoA &I=s
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57.

Match List-I (Functional class of
protein of cell membrane) with List-I1

(Examples) and choose correct answer :

List-1 List-I1
A. Transporter 1. Integring
B. lon channel ii. Adenyl cyclase
C. Anchors iii. Na' pump
D. Receptors iv. K' leak

E. Enzymes v. Platelet derived
growth factor
(PDGF)

Code :

A B C D E

() i il vy

(2) Qi v i \ i

G) v v i

4) i v i i

The inner mitochondrial membrane
has

(1) CoA ligase
(2) Monoamine oxidase
(3) PhosphoIipase

(4) NADH dehydrogenase complex

The
phosphatidylcholine molecule of cel]
membrane consists of

hydrophilic end of

(1) Choline linked (o phosphate
group

(2) amolecule of glycerol

(3) fatty acid

(4) the double bond between two

carbon atoms in fatty acid
ol
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Tesl 19 ° YA qen fafreg

(1) F9uer fik & yorw &g 2 3fh umwey
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(2) 9y fa @ vaw wd 2 3 3mge
R oo

(3) 2l it & yaw s Hea B |

(4) Tl fodl & e ot geha 2 |

(4)

| 58.

59.

The transport of secretary proteins
takes place through organelles in the order
(1) Rough endoplasmic reticulum —
Smooth endoplasmic reticulum —
Golgi body — Secretory vesicles
(2) Smooth endoplasmic reticulum —
Rough endoplasmic reticulum —

Golgi body —» Secretory vesicles

Rough endoplasmic reticulum —
Smooth endoplasmic reticulum —
Secretory vesicles — Golgi body

(4)

Rough endoplasmic reticulum —

Golgi body - Smooth
endoplasmic reticulum -

Secretory vesicles

The rRNA

ribosomes are

(1) 23S in larger 508 subunit and 168
& 5S rRNA in smaller 30S subunit

of subunits of 708

(2) 23S and 5SS in larger 50S subunit
and 16S & 5S rRNA in smaller

308 subunit.

28S and 58 in larger 50S subunit
and 168 rRNA in smaller 308
subunit.

23S and 58 in larger 50S subunit
168 rRNA in “smaller 308
subunit.

(4)

and

Proteins and lipids in Golgi bodies

(1) enter the cis end and exit from
trans end.

enter the trans end and exit from
cis end.

) can enter from both the ends.

) can exit from both the ends.
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Bio-Chemistry
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s

Match List — I with List — II and select
the correct answer by using the codes
given below the lists :

List—1I List - 11
A. Oxidoreductase i. Cholinesterase
B. Transferase ii. Aldolase
C. Hydrolase iii. Alcohol
dehydrogenase
D. Lyase iv. Hexokinase

Select the correct answer using the
code given below :

Code :

A B C D
(1) iv i 1 iii
(2) i v i il
(3) i i i v
(4) iv i i 1

Which one of these is a correct

Michaelis Menten equation ?

Given :

v= Velocity at a given
concentration of substrate

Vi = Maximal velocity possible
with excess of substrate

[S]= concentration of substrate at v

K., = Michaclis Menton constant for
the enzyme

(1) v= Vma.\- [Q]

K +[8]

VITIEIN [S] +_I<_|1
[S]

3) v Voa [S]

{Sl = Km

(2) v=

@ v= YoulS
<m —[S]

Formation of Dihydro Orotic Acid

takes place during

(1) Biosynthesis of Pyrimidines

(2) Biosynthesis of Purines

(3) Interconversion of Purine
Nucleotides

(4) Purine Catabolism

(0]
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o

Which one of these is also known as
Kornberg Enzyme ?

(1) DNA Polymerase — I

(2) DNA Polymerase — II
(3) DNA Polymerase — [l
(4) Taq DNA polymerase

Coenzyme used in transamination
reaction
(1) NAD
(2) FAD
(3) TPP

(4) PLP

Which out of the following coenzymes

takes part in the Hydrogen Transfer

Reaction in the Electron Transport

Chain ?

(1) Tetrahydrofolate

(2) Methyl cobalamine

(3) Ubiquinone

(4) Biotin

Assertion (A) Lineweaver-Burke
equation is reciprocal of Michaelis
Menton Equation.

Reason (R)
equation is particularly useful in
calculating Ky values and types of
inhibitions enzyme.

(1) Both (A) and (R) are individually
true and (R) is the
explanation of (A).

(2) Both (A) and (R) are individually
true but (R) is not the correct
explanation of (A).

(3) (A)istrue but (R) is false.

(4) (A)is false but (R) is true.

Lineweaver-Burke

correct
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10.

Which graphical method is used to
determine an  enzyme degree of
cooperativity ?

(1) Hill’s plot

(2) Hanes plot

(3) Michaelis-Menton plot

(4) Lineweaver-Burk plot

Assertion (A) : One drawback from
the Eadie-Hofstee approach is that
neither ordinate nor Abscissa
represents independent variables.

Reason (R) : In Eadie-Hofstee plot,
ordinate and Abscissa, both are
dependent on reaction velocity.

(1) Both (A) and (R) are individually
true and (R) is the
explanation of (A).

(2) Both (A) and (R) are individually
true but (R) is not the correct
explanation of (A).

(3) (A) is true but (R) is false.

(4) (A)is false but (R) is true.

correct

LDH is found in how many lsoenzyme
forms ?

(1)
(2)
(3)
(4)

=~ Lo

L

The conformational change in the
enzyme after the substrate is bound,
that allows the chemical reaction to
proceed, can be best explained by

(1) Lock and key model

(2) Induced fit model

(3) Allosteric inhibition

4) Non-competitive inhibition

- |
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14.

With four alleles. how many different
combinations of alleles can be there ?

(1) 4
(2) 8
(3) 12
(4) 16

Holandric gene is
(1)
(2)
(3)
(4)

a mutant gene
present on X chromosome only
present on Y chromosome only

present on both X and Y

chromosomes

If a colourblind man marries a normal
visioned woman (who’s mother is
colourblind). The offsprings will be
(1) All normal
(2) All colourblind
1
) 2
colourblind

daughters

b | —

normal,

fad

son

(

1 |
4 Znormal daughter :zcolom'blind

I I
daughter @ 7 normal son @ F

colourblind son

High degree of sensitivity to carbon

dioxide in  certain  strains  of
Droshophila melanogaster is  best
explained by

(1) Mendelian laws of Inheritance

(2) Cytoplasmic Inheritance

(3) Genetic Interaction

(4) Linkage
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In  the  Meselson-Stahl DNA
replication experiment, what percent
of the DNA was composed of one light
strand and one heavy strand after one
generation of growth in "N containing
growth media ?

(1) 0

@) 25

(3) 50

(4) 100

A synthetic mRNA  of repeating
sequence 5' — CACACACACACA 3
is used for a cell free protein
synthesizing system like the one used
by Nirenberg. If we assume that
protein synthesis can begin without the
need for initiator codon, what
product or products would you expect
to occur after protein synthesis ?

dan

(1) one protein, consisting of a single
amino acid

(2) three proteins, cach consisting of
a different, single amino acid

(3) one protein, with an alternating
sequence of three different amino
acids.

(4) one protein, with an alternating
sequence of two different amino

acids.

What is added to the 3'-end of many
ceukaryotic mRNAs after transcription ?
(1)
(2)
3)

Introns

a poly A tail

a cap structure, consisting of
modified G nucleotide

(4) the trinucleotide 5-CCA

(o]



T‘*—

T

19.

20.

21.

ol

A1 freet! 1 =T & Hed § % |1

TF HYA HE A2 & 7

(1) %o vfufafema it §, afme
s fafeoal wdi-+8l smag §
FEhT HIZ B ATl & a1 S A1
ATl TSaled Td1 2 |

(2) TR AT THIBERE S=ger
TR A HUR R 2 |

(3) Sl Hlaeqe=d, 2rde Favr arerl
CER S

(4) 9 &l 1 g1 wfape Hifepiar $
s fereeft et waor
2, o2 s fesieo spaa 2 |

frm § @ &9 @ wRm W
TR (ASATEE HIH 97) &
foru st 2 2

(1) 3= vzt Srferest
(2) HrEErhIfgn

(3) gEEH

(4) Tiesf! Shirgeied

fe1 1 8 1 TresTEA AE @ 7
5.85 rRNA

AL 2g

79 1 3R 79 11 30

(4) TIeTEH

E4E
7 S

L e e S i _.,__._H...,....M.:lg

23

20).

21.

Which one of the following statements
is not correct with respect to the
structure of Plasma Membrane ?

(1) In certain epithelial cells, the
plasma membrane of adjacent
cells becomes thicker in certain
regions and form Desmosomes or
Macula adhaerentes.
Tonofilaments or Tonofibrils are
present in the Zonula adhaerentes
region.

(3) Zonula Occludens is the region of
tight junctions.

(4) At

membrane of two adjacent cells

some places the plasma

give out finger-like projections

known as inter digitations.

Among the following, which cell

organelle is involved in the Apoptosis :
(1) Endoplasmic Reticulum

(2) Mitochondria

(3) Lysosome

(4) Golgi complex

Which one of the following is not a

Ribozyme ?

(1) 5.8SrRNA

(2) Hammer head

(3) Group I & Group II introns
(4) Leadzyme
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24.

fferfga o 9 frme 3evg weed g
TEI BB 7

(1) wreas

(2) ®%S

(3) 3TN

(4) dhd

oA | = % 9 v e q g
HIF T BEM Hifdd a1 2, S SR
AT 1 99T ehal & 79 dh (o
|1 & A0 T2 f9epaa 81 919 7

(1) HCG

(2) FSH

(3) LH

(4) MSH

faeem & femi & srEn fm i @ .
H1 Y TEl 7, 39 3MUN T I o
(a) &%ﬁﬁﬂ'&ﬁqﬁﬁi,ﬁ%ﬁﬁﬂ‘ﬁﬁ
=1 9T A, SR 39T | B 2 |
fager & g wifsrensi 1 wgfw
TafaqTsH $i B 2 |

fagem § & 71 @ @ & @i |
HHHIU (90°) B HT TG H a2 |
(wTEeifes fotedt) 312 % Wieiersy
AT F g g Ear? |
(a) 3R (d) 7@ =1 f=m 2 (b)
3T (¢) Befamq =1 g 2

(2) (a) ewid fam, (b) 3R (¢) T@
o, () efaa s fam 2 |

(a) wfamd fam, (b) 3 (¢) Sowrd
frm, ()T fem 2 |

(a) ¥@ fm, (b) 3R (c) &fomm
T, (d) FewTd frm 2 |

(b)

(¢)

(d)

(4)

E4E
SO _,“ﬁ#ﬁﬁ_
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Which of the following structures does
not arise from the endoderm ?
(1) Muscles

(2) Lungs
(3) Pancreas

(4) Liver

Just after fertilization in humans,
which of the following hormones is
produced to prevent the degeneration
of corpora lutea and sustain it until the i
placenta can assume the burden of A
producing large amounts of hormones Sl
required during pregnancy ? fide
(1) HCG i
(2) IFSH )
(3) LH

(4) MSH

Read carefully the following laws of
cleavage and answer according, which
statement is correct

(a) The speed or rate of cleavage in
any region of egg is inversely
proportional to the amount of yolk
or deutoplasm it contains.

Cells tend to divide into equal
daughter cells.

(b)

(c) Each new division plane tends to a‘
intersect the preceding plane at .‘i:.‘
right angles (90°). »~~

(d) The nucleus and achromatic
figure (mitotic spindle) occupy
the ‘centre of protoplasmic
density” of the egg or blastomeres R
in which it lies e

(I) (a) & (d) are Sach’s law. (b) & (¢) i

are Hertwig’s law.

(a) is Balfour’s law, (b) & (¢) are

Sach’s law, (d) is Hertwig’s law.

(a) is Hertwig’s law, (b) and (c)

are Belfour’s law, (d) is Sach’s

law.

(a) is Sach’s law, (b) & (c) are

Hertwig’s law, (d) is Belfour’s law
Ol
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ol

(1) *A® 1T Eeh JUE FTeT 23 1T
(2) 1" 3T T3 AUE AT & HIA
(3) @ 7’ A % off" arer & /1
(4) 2 M’ ©1gA & st aTe & °E

SreRitg et (AfereRn) ureft et 2
(1) eprelra oy d

(2) =ed ufsEi |

(3) IrferEin

(4) ImfEad

it 3R steeifEE afad 2d 2
(1) i aify & o fe=ferm

(2) g wif % o TEetE |

(3) UrEs a1 |

(4) g 1fy % =0 EEaETEiE A

foremore © Tep= fopush grI BN @ 7
(1) Hishifea

(2) TR

(3) WUSTEHIHA

- n IS [ o

(4) HiAZREA

famm o @ Rt a0 51 ORI @
(1) 3Te-3ih-=9 <1

(2) darfad

(3) IASAEd

(4) wfcTigehan

26.

Sarcomere. the basic structural and

functional unit of skeletal muscle fibre

can be defined as

(1) Exclusive region of ‘A" or Dark
Band

(2) Exclusive region of ‘I" or Light
Band

(3) The region between two adjacent
‘7" lines

(4) The region between two ‘M’ lines

Volkmann’s canals are found in
(1) Skeletal Muscles

(2) Cardiac Muscles

(3) Bone

(4) Cartilage

Vassopressin  and ~ Oxytocin  are

secreted from

(1) Pars distalis of pituitary gland

(2) Pars tuberalis of pituitary gland

(3) Thyroid Glands

(4) Neurohypophysis  of
gland

pituitary

Gall bladder contraction is caused by
(1) Secretin

(2) Pancreozymin

(3) Enterocrinin

(4) Cholecystokinin

Which of the
property of neve fibre ?

following is not a
(1) All-or-none law

(2) Conductivity

(3) Exitability

(4) Resistance

1
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S ITTHRATARIHSAT T FehR B
Ut sifadierehat § el arern 3m 2 | g8
fepr fergiy sraeer & grar @

(1) =89

,—.
R ]
—

(FgEEm) g
SIfvrpreE fvd & st Al
a1 foren o 28, wife daasm™
g W& dwdl I 9IEl oied o
rguefar of |
et d3 61 wiften uferi § T 31
B fompmrgen a & H
fereETEes &1 fiftse 21 wrar 2
e s 4 gfalias emar
S B2 |
gy Y fqefya ik ufyes 29 8
sEd el ®, dfomwass T
i ferepfad T Bl ard 2 |
sifer o= |, fi-B-faremEEe 3
B-fermerarze &= # sra%er @ 2
| wror weft 5w & wferfandi
AT I A1 1 I Sran & 1 fo 9 98
|

o -1 =t foe T -1 8 hifs -

= -1 o -1

A.1gM L yfcRiassdr guTed #
& °h

B. IgG i wHTIHHEEAE
Taderes i =
YIE He

C. IgA 11 STﬂTgﬁmﬁﬁEW@
USH{d BT 3 | YL
Hiafe fewai 1§
gferlieres ear a1 2 |

D. IgE iv.  9TTdifies uerst |
faRdT Y T

LT

A B C D

(D i i i v

(2) iv i i g

G) i @i v i

4) i iv i i

30.

Bruton’s

agammaglobulinemia
immune deficiency disease is

(1) delayed killing of phagocytized
microbes traced to the inability of
lysosomes to release their
contents.

(2) a condition in which both, T & B
lymphocyte areas of the lymph
nodes are depleted of
lymphocytes, and all immune
function is suppressed.

(3) a condition in which thymus
gland fails to mature and
consequently T-lymphocytes fail
to develop.

(4) a condition in which
B-lymphocytes fail to develop
from pre-B-lymphocyte cells in
the bone marrow, and levels of all
five types of antibodies are low or
absent, with no  antibody
response.

Match the following and answer

accordingly :

List -1 List—1II

A. IgM I. Principal component

of primary response

B. IgG il. Crosses placenta,

principal component
of secondary response

C. IgA iii. accumulates in body

secretions and give
protection in body
cavities

D. I¢gE iv. Role in allergic

reactions

Code :

A B C D

(1 1 ioi v

(2) v i il i

(3) i Qi v i

(4) 1 v il i

32
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32. g@d Th o3t (?_—Iﬁm) E3 32. Determination of the percentage of

fyfir T £ T B FrprtaE | different varieties of Leucocytes 18
vk ; 5 i known as the Differential Count of
F3e I s A FE '.

- o BE White  Blood Corpuscles. The

classification and the differential
count, as generally accepted are as

e

& 57T - 31T T + Qa-mup:n F® | follows, in decreasing order of their
3 e 3 yfeora afe T 0 @ i respective percentages. The correct
'ﬂa‘ﬁTﬂT"@Tﬂ i sequence is
I 'I (1 Neutrophils = Monocytes =
(1) e - firaTge > fewhmEEe > Lymphocytes = Eosinophil >
3 > FEifRe 1 Basophil
) i > e > FREE > (2) Neurophils > Monosytes 7
o SRR [ymphocytes =~ Basophils =
% N ll Eosinophils
(3) B > foPRIETEe > HAEEe > (3) Neutrophils = Lymphocytes =~
S > AR ' Monocytes = Eosinophils =
() feiarse > A > HAETE > i Basophils
i { (4) Lymphocytes > Neutrophils =
3 2 E],-g% Monocytes = Eosinophils =
e " Basophils
33 " E
i & 3 \t 33, A lactealisa
(1)) eI =in et e ! (HY Lymphatic vessel N small
(2) Spee| ‘g intestine
(3) T t (2) Artery
() = FRERT { (3) Vein
i (4) Blood capillary
|
1y fece b fpe el A WTEE & | 34, Cercbrospinal fluid is collected from
Frore TreRTat STl 27 %l which part of spinal cord ?
(1) BEmEhd i (1) Cervical
1
(2) #HE i (2) Sacral
(3) DIESES % (3) Thoracic
{
(4) =L '1 (4) Lumbar
i
35 ﬁ?ﬁﬁiﬁﬂﬁ-ﬁ{(%ﬂﬂﬂﬂa{[% ? } 35, Which clotting factor is known as
(1) 1X i Christmas factor ?
(2) X ‘. (1) Ix
(3) VI i (2) X
@ XI ‘, (3) VIII
(4) Xl
ol 27
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SR s UET =y &
JFASITa et el U (39a w3776
werEitersy W) 2 e 92 St o
Frefl ieft Tehar a9 93 § HGA 31
2 | 39 39Tl qfe i wad B

(1) H9et fawa gi fesfia

(2) THAPIEfRe=

(3) Teshi=gfeaT

(4) Teedife=gfen

Werd: TTEHal (Vedlfs ) fhy vaen 6
HH1 % B BT 7

(1) 2R ZrauHis

(2) TRUHES

(3) e

(4) Tawrfasnfe fadey

= 9 @ o5 o 9= / yoreft s <
T qUITEr! o pH &1 Hie 97 qler ®9 &
fafa & st 8, sear pH frE
OTTEA! <1 HEd R TE B 7

1) SR Y ae gorrett & aut
(2) vaE4 a3

IREREERE]

(4) 9TEA 9

ﬁiﬁm YT $ TATAhIS ee.llul f&ﬁ—-{

(|)a'mﬁu-=ﬁ2rsq—>waﬁ“-|=| Elieu
U, 3HEE |,
4 - 1,

6
El

ﬁ?flsmﬁ@‘{qa
~ 1,4 TIRMREES HI
e

—fesifem uengm
IR - 1, 6 —

TR IHTESH
) Hh-HEA TR I RIS
B3l

(2) 99 TRY

(3) <hitl 23y
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39.

Ochronosis or bluish black
pigmentation in connective tissue and
HGA in urine are due to which one of
the following, ‘Inborn Errors of
Metabolism™ ?

(1) Maple-Syrup Urine Disease

(2) Phenylketonuria

(3) Alkaptonuria

(4) Histidinuria

Albinism is mainly caused due to lack
of enzyme

(1) Tyrosine transaminase

(2) Tyrosinase

(3) Arginosuccinase

(4) Cystathionine synthetase

Which one out of the following
systems/mechanisms, is not directly
related, or is not one of the main
factors for regulation of pH of body
fluids ?

(1) Buffers of body fluids

(2) Respiratory mechanism

(3) Renal regulation

(4) Digestive system

Which  one of the following is
mismatched with respect to the main
cause of Glycogen storage disease

types ?
(1) Von Gierke Deficiency of
Type —> Glycogen  branching

enzyme, amylo 1, 4 —
[, 6, Transglycosylase
(2) Pompe Type — Absence of lysosomal
enzyme, o — 1, 4
Glucosidase
— Deficiency of
debranching
enzyme amylo — 1,
— Glucosidase
(4)  McArdle Type — Deficiency of muscle
phosphorylase

(3) Cori Type

(o]

40
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Ol

S 1 4 9 T e, fafes e %

e (Assay) @i Hiftraar 1 oI

FA8 ?

(1) e (Fa%) a1 e H
feqfere S 1 ufsr &0 Sfea
2

2 R f ™ Hw H, e

difered H geEn H W
FHIfEERIF T AT & AE
e 9 41 g aldl 2 |

(3) forg amad ol & gern |
fafere sl glew H foe
HIHT=Id: 984 Feal ITH &l 2 |

(4) fafee s g arfas a9 9@
3 fafim w0 v e o
Faa R |

e 4 | B oW e ufSEeata
FAAMET UAEH (ACE)” $I da8 Hal
ST AT 2 ?

(1) T8 Ua USATEH 2 S Iehd H THT Sl
2 g ofwREfm-n w
uferreAtE -1 4 ufafda w2 |

(2) ¥E TH TSMEH & S HHS H T

S 2 odur ufsERdAtEa- - @l
wfareAta -1 # afafdd w2 |

(3) T8 Ue UATSH & 1 Iehd H TRIT STl
2 g URERARE-1 &
oSt - 11 | uftafda & 2 |

(4) TE T UATEH B W1 T ¥ H Fhel
F ura ATaT & den A1
UfsreAfE—11 # ftafda s 2 |

=
=

- I
f@

S C
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¥ T

Which one statement, out of the

following, points towards a

disadvantage of Liquid Biopsy Assay ?

(1) Liquid biopsy is considerably less
invasive when compared to the
tissue biopsy procedure.

(2) Circulating tumor cells or DNA
are relatively rare compared to the
number of haematological

molecules found in a blood

sample.

(3) Liquid biopsy test results are
typically available much earlier
than a standard tissue biopsy.

(4) Liquid biopsies may allow for the
stratification and  real time

monitoring of therapies.

Which of the following best describes
Angiotensin-Converting
(ACE)?

Enzyme

(1) It is an enzyme that converts
Angiotensin 11 to Angiotensin T,

located mainly in Liver.

(2) It is an enzyme that converts
Angiotensin I to Angiotensin I,

located mainly in lungs.

(3) It is an enzyme that converts
Angiotensin I to Angiotensin II.
located mainly in liver.

(4) Tt is an enzyme that converts
Angiotensin T to Angiotensin [,
located mainly in lungs.

a
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46.

RAST d f= § & &1 =t g

Tehfleh &1 TAIT 211 & 7
(1) RIA

(2) ELISA

(3) FACS

(4) FISH

e Bl BT IUANT FFa BT R 7

HAtAeviien gram=rE; ff g 2
(1) 3

(2) RwrEnfe

(3) TMeg-wifes Har fay

(4) TS WISHILEI @ie

ufeaist wifad wE arefl i &5

TUHT TR g1 Y ST Tehdl € 7
(1) @rserEprga fiferst gro

(2) P ufearet 1 E gr

(3) hITTeRT Tas W sRHTAH gy
(4) ELISPOT gr1

ELISA ¥ UASH 371 ufeaidl i siatem

fr 4 g frma i s 2 7
(1) & ufge

(2) HIAREH Meg

(3) Btz yariehes
(4) I 3+

FLLY
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46.

RAST uses which one of the following

immunoassay techniques ?

(1) RIA

(2) ELISA

(3) FACS

(4) FISH

Latex particles are often used in
(1) Neutralization assays

(2) Adjuvants

(3) Agglutination tests

(4) Affinity chromatography

Characterization  of  antigens

by

electrophoresis is commonly relies on

() Agar
(2) Sweptavidin
(3) Gold-plated sensor chip

(4) Plastic microtiter plates

Antibody
enumerated by

secreting  cells  can
(1) Cytokine release

(2) Total antibody content

(3) Cell surface immunoglobulin

(4) ELISPOT

be

[nan ELISA. you might use an antigen

or antibody labelled with
(1) Fatty acid

(2) Colloidal gold

(3) Horseradish peroxidase
(4) Europium 3+

0l

47



(4) CFSE

48.

fr wwn H CTEE S-Hig

FEECEEECE (FISH) 3=FARE qe-tfesai
A S e % s HA e

gl -1

A. Q-FISH i

B. Flow-FISH ii.

C. MA-FISH iii.

D. Hybrid v,

Fusion

FISH
%l

A B C
(1y i i il
(2) iv i iii

(3) v i i
(4)
ol

= - 11
DOT WrHH
Frere few aret
FTEATT - 3T
YHH h
ARG H
a9 T
FISH & fe1u
g e
cageunl

I FEL HAh]
# HER2 oA 1
T o e
9T

FISH %1 PNA
% =Y AT
T hl dHAT,
HIHT=IERT 39T
Aeffi &=
e & fee

Which one out of the following is not

a fluorescent label ?
(1) Cyanine 3

(2) SDS
(3) Ethidium bromide
(4) CESE
Match the following  types of
Fluorescence in Situ Hybridization
(FISH)  Immunoassay techniques
correctly :
List -1 List =11
A. Q-FISH i. Use of visually
distinct
fluorophores on
probes or DOT
process
B. Flow-FISH ii. Uses Flow
Cytometry to
perform FISH
C. MA-FISH iii. Applied for
detecting HER2
gene in breast
cancer tissues
D. Hybrid iv. Combines FISH
Fusion with PNAs
FISH technique used
routinely in
telomere length
research
Code :
A B C D
(1 i i i
(2) iv i il i
(3) iv il i i
(4) i i i
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]

% Tew 1 w1 HUF TH TR 7
ST, ¢ = ISR 377 w e
X - X (X €0 ¥ for)
y=Y- Y (Y§is ¥ o)

{I) r= ;‘\} 2
ua%#rs'{ﬁzqsﬁ%w‘r‘a%@
T HE 2 |

r <l ETCHe W okl Ha i
3| a2 3R afe ¢ % e
YT 2 a1 3 3T wtar 2 fs 2
afEfae X9 v us € fean § wem
2 |

Fe frgds wEfem= zm
X-df@fasr s vafefas =
fafire wm 39 fomn s 2, wrefs
w9 Y-afafas @ X-afafae o
ffvea um fear w1 |

(4)

foem wifefm 8 g afefre =0
vaiaH feman ST 2

(1) Teagig n feue= afdfas

(2) sfed afafye

(3) sfafa afEfas

(4) ==l X-afefas

UTH BT 7

(1) ELISA

(2) !mmuno—elcct;‘ophoresis
(3) RIA

(4) CLIA

w
N

49,

Which one out of the following
statements, is not true about Karl
Pearson’s coefficient of correlation ?

where, r = co-efficient of correlation
p=Ruu X (For X series)

y=Y-Y (ForY series)

B e e

(2) rhas no unit. It is a pure number.

(3) A negative value of r indicates an

inverse relation, and if r is
positive, the two variables move
in the same direction.

(4) The Karl Pearson's coefficient of
correlation is used to determine a
specific ~ value  of
X-variable or, Y-variable, given a
specific value of Y-variable or
X-variable, respectively.

either,

[n Regression analysis, the variable
that is being predicted is
(1) the

response, or dependent,

variable
(2)
(3)
(4)

the independent variable
the intervening variable

usually the X-variable

Which  immunoassay technique got
Noble Prize ?
(1) ELISA
(2) Immuno-electrophoresis
(3) RIA
(4) CLIA
ol
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%mvﬁqﬁam*ﬁﬁﬁ@w%?

(1) K& 9 T Fiferemst o T

crm1 <1 A i

Na' & T W d e T

ForRTaTt @ 3T TATdEd

(3) cr ® T W # d@ T
TRt i AT ITAEE

4) mﬁsmﬁmaﬁﬁwac;wﬁm

-

(2)

(iii) s — 6 — P
EER Al HTEAS .

I — 1. 6 — SEHIERL
¥ 2R 2ATP 1 I
frey sffFat 3 AT BT e
(1) (i) (i)
(2) () (i)
(3) (i) @@ (i)
(4) (iii)

i
i
|
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|
i
‘i
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52.

Hamburger's phenomenon is

(1) Exodus of K' from RB.C. t0
plasma

(2) Influx of Na’ from plasma o

R.B.C.
(3) Cr shift from plasma to RBC
(4) Formation of NaC/ in R.B.C.

Hyaluronic acid is an example of
(1) Amino acid

(2) Monosaccharide

(3)
4)

Disaccharide
Mucopolysaccharide
Consider the following reactions in
Glycolysis (EM.F. pathway)
(i) Hexokinase
(it) Glucose — 6-P
Phospho Hexose Isomerase
Fructose —6 =P
(iii) Fructose — 6-P
Phospho Fructo Kinase

Fructose — 1, 6 — Diphosphate

A total of 2
Glycolysis. These 2
during reaction(s)

(1) (i) & (i)
2) () & (i)
(3) (i) & (iii)
(4) (iif)

ATPs are used during
ATPs are used

The sol and gel phases of protoplasm
are explained under which theory ?

(0 Alveolar theory
(2) Granular theory
(3) Colloidal theory
(4) Reticular theory

Glucose ——— > Glucose—6—P
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58. ﬁmﬂuﬁqmmﬁﬂam%? : S8.

lrang%:fspér%a?rgﬁq |
awa\zrfm (4) IgrIfEm

59. (A) 3R (B) TaTIfIE w3

NH-

N, 5 H-N
D
H( ic 0 0=( C-H
N/ Ny
H I|I i
(A) (B) a
i snm s aems ¢
(1) (A) 3T (B) =wr€difim sitt e :
“é‘,m: ‘
(2) (A) 3R (B) ufsfa 3R oméfi 2, i
AT i
(3) (A) 3R (B) [ufm 3T AT 2, :
e
(4) (A) 3 (B) vfefm 3 wrdafay
&, A |
00. =i s fiey § 4 fopm it 4 2 - | 60,
(1) HYH T 30 i
(2) THIH FHr 3 f
(3) HIW UATEESEE I |
(4) T g5 s |
O 34

If Palmitic acid is oxidized, it will run
through  how many  passes of
f-oxidation ?

() 5 (2) 6

(3) 7 (4) 8

Proteans are example of

(1) Primary derived proteins

(2) Prolamines

(3) Protamines

(4) Glutelins

Which of the following is cyclic
peptide ?

(l} Gramicidin-S (2) Bradykinin

(3) Glutathione (4) Vasopressin

Carefully  observe the chemical
structures of (A) and (B)

r\H 0
I
¢
/ g \ / \ H - N/ \(‘ CHy
$ CH ]
4 ( g 0=C C-H
\ 3/ \ h" s #
“ H
(A) (B)

Which of the following statements is

correct ?

(1) (A) and (B) are Cytosine and
Thymine, respectively

(2) (A) and (B) are Adenine and
Thymine, respectively

(3) (A) and (B) are Guanine and
Cytosine, respectively

(4) (A) and (B) are Adenine and
Cytosine, respectively

Chaulmoogric acid is a class of
(1) Saturated fatty acid

(2) Unsaturated fatty acid

(3) Saturated monohydroxy acid
(4) Cyclic fatty acid

0l



Part-C
Forensic Science

o1, et d & w5 @ R | 61. Which one of the following pair is not

Fa i Ed g ? correctly matched ?
(1) {éﬁ—ﬁﬁ ﬁﬁjﬁhﬁ-{ﬁ _ gl 6 (1) UV—Vis speclroscopy-Quamity
T of material
@) S S — T (2) Fluorescence spectroscopy  —
ST Light absorbance
. e i (3) Raman spectroscopy = Light
(3) T TRl — ST geh1uiA cattering R 4
(4) Infra-red spectroscopy =

Vibrational spectroscopy
62, T e AEmmE A 6
ferft fepment w1 R 7
(1) o i w1 aesd S R
FTR |
(2) el ue i G T HE

t 62. Degree of scattering in transmission
electron microscope is a function of
(1) wavelength of electron beam used

(2) number of atoms that lie in the
electron path

(3) 3o 94 i qrtrrrg,aﬁ Eaksteal et (3) number and mass of atoms that lie
FHHH | in the electron path
(4) FeiagE 9 A g3 &1 GHHH Q—é@ (4) mass of atoms that lie in the
Eﬁ?ﬁ electron path

63. favies 'guw (Differential staining)

# %‘-ga; TS Hﬁm % o ggr §3Ti % ? 63. Differemial slaining is associated with

study of morphological structure of

!
;
& (1) HHE I | _
(2) eggﬁﬁ'iﬂ il (i) Human sperm
% 3) mﬁﬁm ; 2) Human cgg cell
3 (4) T T % (3) Plantcell
1 (4) Hair sample
i
64. WW (mass spectroscopy) 64. Mass spectroscopy separates jons on
e foha Favgr e # 2 § the basis of which of the following :
(1) ZeaHH™ i (1) Mass
(2) SIER ' (2) Charge
(3) 3Aorferh a5 i (3) Molecular weight
: (4) I Hafd A 1 (4) Mass to charge ratio
3 ol 35 O



65.

60.

FUE T A Afaeh T1e7 & Hawr % ferw
fadasndifafugdie? ¢

|. I JEE |

2. TuEHH g §

FIS F TH gHe T

e fou Tu shTg %1 39 ik FE I

-

gq :

ad

(1) 1,23R3
(2) 2 373
(3) 133
(4) ad |

frfafEad g s M FuA a8 2 7

|. =t ag =afw 2 S w6 9t gfdsEr
+I I & 97 gerel (SR) | =ifad
FATE |

2. Hidl 98 AafF 2 S & a gfast
& I & A gt (i 3R
) | wifad S 2 |

3. gEl 98 =Aafw 2 S & an wfaeet
i I & Tt aered (SR 3 i)
T Fferd iar 2 |

4. wHEl 98 =FfF 8 T W F T
Terelt (@R, g 3 ) ° wF
a1l giasi1 < |ifad s 2 |

e IAA ¢

(1) &ad |

(2) &ad 2

(3) ad 3

(4) a4

3

36

h

Which of the following is the best
method for preservation of biological

evidences available on cloth and
fabric ?

I.  Indry state

2. In saline solution

3. Ona piece of cloth

Select the correct answer using the
codes given below :

Codes :

(1) 1,2and3
(2) 2and3
(3) land 3

(4) 1 only

Which one of the following is correct ?

I. A secretor is an individual who
secretes blood group antigens into
body fluids such as saliva.

2. A secretor is an individual who
secretes blood group antigens into
body fluids such as semen and
sweat,

3. A secretor is an individual who

secretes blood group antigens into
body fluids such as saliva and
semen.

4. A secretor is an individual who
secretes blood group antigens into
body fluids such as saliva, sweat
and semen.

Select the correct answer
(1) only
(2) only2
(3) only3
(4) only4

Ol



best
zical
; and

the

ct?

vho

nto

vho
nto
and

vho
nto
and

tho

nto
‘eat

r10|

Erfrfaa & 9 1 w8 en @ g A8 |
@i e ? %
(1) YfafesA (Precipitation) — geAsfiet i
(2) We@d M3A (Rouleaux formation) — !
M TR o SFEIV < o AT T l
FiforERTaTl =1 T gE T ghgl Bl 1

(3) "8 (Agglutination) — e i T
FifEmat § A e dwmod

:

n

udteigl < wfdfzwan
{4)Qﬁtﬁm-zﬁmﬁlﬁm—aﬂm

EPE R TR 1 B A |

TH o

Frforfiaa 1 A SiR FAR A R
F g & fawmom & faw ®F A
e | iR wEi fe w2 7

|. asrsfea (Benzidine) 3 F{fﬁﬁc“l

(Luminol)

,‘

|

5. HAeEAfET (Phenolphthalein) 3R :
?{fﬁlﬁﬁ (Luminol) :

3. dfwfe (Benzidine) 3T i
HATeRATA (Phenolphthalein) i

4. ogHArE (Luminol) 1
3 fou 0 e I H FE I |
ik |
HIE : i
(1) *dd 2 |
(2) 13R2 |
(3) 133 |
(4) *ad 4 |
i

i

frfefiga # B @M = FEEOA
(polymorphic) TSATEH 1 Ieravl TEl
27

(1Y GC

(2) AK

(3) EsD

(4) PGM

per ]

Which one of the following is not
correctly matched ?

(1) Precipitation — Reaction between
soluble antigens and antibodies

(2) Rouleaux formation — RBCs pile
on each other to simulate false
agglutination

(3) Agglutination — Reaction between
antigen on RBCs cells and
antibodies in serum

(4) Antiserum — On cathode side in
cross-over electrophoresis
technique

Which one of the following
(chemicals/reagents) is generally used
for the analysis of blood stains in a
dark room ?

. Benzidine and Luminol

2. Phenolphthalein and Luminol

1l

Benzidine and Phenolphthalein

4.  TLuminol

Select the correct answer using the
codes given below :

Codes :

(1) 2only

(2) land2

(3) land3

(4) 4 only

Which one is not an example of
polymorphic enzyme ?

(1 GC

(2) AK

(3) EsD

(4)y PGM



70.

71.

friferfigd o & sl wr wuT g 2 2

(1) & 4 srwg =l u udem g
fauifa fopar s 2

(2) @ § sRwa i & e g
fruffed fman smar 2 |

() W H I @ @ i g
fwifea ferar smar 2 |

(4) W 4 Inwa 9wl wiew g
fuffa form smar 2 |

I SIFYINY-aTeH (Absorption-

elution)

a9 fygy (Absorption-

[

inhibition)
3. fufe Y24 (Mixed agglutination)
=t feu 7 Frg w1 3ug woy &l 3T

38

Which one of the following statement

is correct ?

(I) Rh factor in blood is determined
by A antigen

(2) Rh factor in blood is determined
by B antigen

(3) Rh factor in blood is determined
by D antigen

(4) Rh factor in blood is determined

by AB antigen

Which one of the followings are
methods of blood grouping from dry

stains ?

. Absorption-elution

2. Absorption-inhibition
3. Mixed agglutination

Select the correct answer using the

codes given below :
Codes :

(1) 1.2and3

(2) land?2

(3) 2and3

(4) 2only

0l

B-,fr-.r-p:i-i_ bk
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72.

73.

0Ol

frferfiaa @ & #F | W Tl H @
A5 et Tiew A & ot ?

{. UM (ABO)
2. &d (Kell)
3. =i (Duffy)
4. @fad (Lewis)
fi=1 feu MU ST @ IUFIT Heh Al I
A

HiE :

(1) 132

(2) Had 1

(3) 233

(4) 334

frfafiad & sy w=2d 7 A 3 €
U U EE 1M H I B R 2 7

. o3 % fou smme foen S AT
e

2. g fam

3. feme &1 ghel

i3 fou MU whTg 1 I HLH T IT
= :

H1S :

(1) 132

(2) 233

G3) 1,23M3

(4) a2

Which of the following blood groups

were discovered by Karl Landsteiner ?

1. ABO
2. Kell
3. Duffy
4. Lewis

Select the correct answer using the
codes given below :

Codes :

(1) lTand2
(2) onlyl

(3) 2and3
(4) 3and 4

Which of the followings can be a
source of DNA evidence from saliva at

crime scene ?

I.  Tumbler used for drinking

%]

Bite marks
3. Cigarette butts

Select the correct answer using the
codes given below :

Codes :

(1) land2
(2) 2and3
1.,2and 3

(3)

(4) 2only



74.

- ~,

I q\m%‘ma’mgﬁ ;

%E'{EF {NIICI'L‘US) aygr s}
E’quqaﬁamn%ﬁ%%qu@Ts'nﬁ
%mﬁwm%w%?

RECiEr (=

(Uv

Spectro phoromelr_\_f)

2 WA (vielg Gel)

3, RUSIEC Rt

ﬁﬁﬁqmmmmmaﬁsﬁz
H

e ;

(1) e |
(2) 1372
(3) 133
(4) 1, 2 3k 3

76; !rfanfaﬂl‘fﬁa’ft{%

HTWEEHEHWW

ﬁhﬁmmaﬁ?{,
&l "ehar 2 4

74,

76.

Lysis of cell membrane
DNA from nucleys of mitochondyi, Is
done wigp Use of which evitable
enzyme

(1) PGm

(2) AK

(3) ProteinaseK

(4) Tagq Poiymerasc

Which of the followine are methods of
=

Quantitatiop of isolated DNA 9

l. uv spectrophotomclr_v

2. Yield gel
3. Real time PCR

Select the correct answey using the

codes given below
Codes ;

(1) 1only

(2)
(3)
(4) 1.2 and 3

I and 2

land 3

If the
father jg B, the blood

blood 8roup of mothey is A ang
8roup of children

¢an be of 2

(1) A0

(2) B, AB

(3) AB, 0

4) A, B, AB, 0

(o]}

o release )

ol
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releasc 77.

mdria i
evitable
78.
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the
79.

"
7
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Qs 91 fudERT (per) qeie
form s g0 fasfaa i mh 2

(1) 4T, ST

(2) TSt FHA

(3) Higfem

(4) T AT

Higdihifgaa fin wmam d faeema
T (-7m) § fefafes § & ®=W
a2 7

|. HIgH HEEAEE (Micro Satellite)

2. Tyft BeeATSE (Mini Satellite)

3, B39 T:‘lft@l?'! o (Hyper variable

region)
i feu 1m0 iz w1 ITNT HH FE I
A :
HS
(1) 132
(2) %Had 3
(3) 1,233
(4) 13Mm3

greafass fiE12A1 (Real time PCR) fafa

} FH = ST e Fehdl € ?

|. @Rl aE

2. ar faeig guAg

3. HfFE 3T ArEi-gae ST
CaR=GERIEINE]

#= feu TTQ Big 1 3UF Heh Hal 3T

T :

Hig

(1) 132

(2) 233

(3) 1,233

(4) 133

77.

78.

" T
l
The technique Polymerase Chain

Reaction was developed by
(1) John M. Buttler

(2) Alec Jeffery

(3) Kary Mullis

(4) Karl Lansteiner

Which of the following is forensically

significant in  displacement loop
(D-loop)

chromosome ?

in  mitochondrial  ring
1. Micro Satellite

2. Mini Satellite

3. Hyper variable region

Select the correct answer using the
codes given below :

Codes :

(1) land2

(2) 3only

(3) 1.2and3

(4) land3

Real time PCR method can be used for
which of the following ?

1. Quantitation of DNA

2. Species specific DNA

3. Independent of
nuclear and mitochondrial DNA

quantification

Select the correct answer using the
codes given below :

Codes :

(1) land2
(2) 2and3
(3) 1,2and3
(4) 1and3



80.  ZITAU 9T D16S539 7 'S T Ffiryry

81.

82.

TR 7

(1) 31gsEmm

(2) foTet it 31gamm
(3) THS 3rqEn

(4) farer 7

(1) 91 =F, T R, T i
(2) T b, qet oY, aret o

(3) A AR, T A T, qve e

(1) THAIR (STRs) —
GRS

BIC STy
(2) diegdiam (VNTRs) -
QB Y He

(3) IATHTAH (RFLPs) — yfgay

(4) ImudE (RAPDs) _
-W@ﬁmqﬁnﬁ%@&w

STUTFH

i
i
;
!
i
i
i
!
i
:
i

42

82.

[n DNA marker D16S539 -§° stands

for

(1 Sequencing

(2) Single Copy Sequence
(3) Single Sequence

(4) Single Copy

What is the possible ascending order

of quantity of DNA that can be

extracted from biological materials

taken in equal volumes ?

(1) Liquid Blood. Liquid Saliva.
Liquid Semen

(2) Liquid Blood, Liquid Semen.
Liquid Saliva

(3) Liquid Saliva,
Liquid Semen

(4) Liquid Saliva,
Liquid Blood

Liquid Blood,

Liquid Semen.

Which one of the following pairs is not

correctly matched 2

(1) STRs — Small Tandem
Repeats
(2) VNTRs — Variant  Number of

Tandem Repeats

(3) RFLPs — Restriction Fragment

Length Polymorphism

(4) RAPD - Random Amplified

Polymorphic DNA

o]}

8

e




84.
er
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Is
85.
#
b
s 86.
oy
.
ol

&I AT 1 He o 2 -
(1) =tfEmE gyl 6 o
(2) 9 i+ ga

(3) h A gan

(4) FA e

I H1HA 20 A et A8 @i 7

() a=a wew - $rft g=eha
HIITY

(2) BT — TrET g=ea anEey
(3) ITNEE — Tifde a2siig HII0g
(4) 30 — fFe g=ila 31yare

ggfta  (dreor) srfufim, 1972 4
feperft st & 2

(1) 2

2) 3

(3) 4

(4) 5

A UIERRME A AT A FE R 7

(1) dEu waEddyH, Tism yadq,
FIuAu A7, e

(2) 2AU  uEHdFIH, EiUAT HE,
didfiarm yasla, e

(3) €T uEHIFEH, S,
drefiam yae, gugu A

(4) ST vEEdFH, SR, guau

o, s ygda

=B — —
G S

43

83.

84.

86.

The name Shahtoosh is a reference to

(1)

Wool from a protected antelope
species

Traditional Chinese machine
A herbal preparation

Unani medicine

Which one is not correctly matched ?

(1) Himachal Pradesh — Kugti Wildlife
Sanctuary

(2) Haryana — Nahar Wildlife Sanctuary

(3) Uttarakhand — Gobind Wildlife
Sanctuary

(4) Assam — Kibber Wildlife Sanctuary

How many schedules are there in the
Wildlife (Protection) Act, 1972 ?

(1 2
2 3
(3) 4
4 5

What is the correct sequence in DNA
profiling ?

(1) DNA Extraction, PCR -
Amplification, DNA
Quantification, Genotyping
DNA Extraction, DNA
Quantification, PCR
Amplification. Genotyping
DNA Extraction, Genotyping,
PCR Amplification, DNA
Quantification

DNA Extraction, Genotyping.
DNA Quantification, PCR
Amplification

(2)



87.

88.

89.

90.

A WG B B Y H fewrd 3y
g7

1. dftem
Afegar

. HIZH
T

HIS

(1 1,23R3
(2) 13m2
(3) 233
(4) Fad 2

AR WA b w9 F 3w Rear
FATAT T 7

(1) 9137 stfera

(2) T 3R H1 g

(3) I

(4) I 9

ﬁwﬁ%ﬂﬁﬁﬁmwaﬁmm
g7 i
(1) Hhig=ed qrgeq vaet wor & dma |
(2) Tourd i waet =t F Agew 3 | !
(3) Tewetdfteet sifim =0 & dgaw 3 | !
(4) &d dieet sifom =wor & dzar & |

LS T ]

Tsg FINS &7 o1 379 2 7
(1) AR 3vm =ifaerr dips
2) ®ifs  wy  @

87.

o

o
o,

o)
b

90.

|

al F

Which of the insects are the first 1 o1, °

appear on the dead ? =
. Beetles s a0
2. Flies .

3. Mites i

Select the correct answer using the
codes given below :

Codes :

(1) 1,2and3 o

(2) land?2 -

9.
(3) 2and3
(4) 2only _*-_i"-"'_
o

Forensic Entomology as an evidence i

was first described by

(1) Paolo Zacchia

(2) Sir Arthur Conan Doyle

(3) Song Ci

(4) Ambroise Pare -

Which one of the following is a correct

statement ?

(I) Macrocheles mites are first stage
scavengers

(2) Hide beetles are first  stage =
scavengers B

(3) Hister beetles are last  stage
scavengers _ =

(4) Horse beetle are [as stage
scavengers ::

The term FINS in genetics stand for &

(1) Fluorescent [gnition  Nuclear e
Sequencer :;t-,

(2) Forensically Informative b4
Nucleotide Sequencing

(3) Fluorescent Informative
Nucleotide Sequencing

(4) Forensic  Information Nuclear

Sequencing
ol
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ol

- frol FEI H@ATR ¢

(1) = e sf
(2) =e St fog
(3) Fomfd

(4) UH.FH, T

= d 15 ® m figa AEdesvgae
g1.wA. v, fEmfifen 2 war ged B 2

(1) feranfed Seqeman

(2) feranfed #rgea

(3) feanfes dqerar 3 fqafea Arge 2=t
(4) 390 A HIE T

afg #1E wwa § afvem 3 qd fewn 6 s

1, & frafafea § 4w afig g

(qfvem | qd = 3MN) H1 & FATFE

27

(1) H19a TgE 3gaE, fir 33, e
T 3IM, FHeTH! TEHE 3TIH

(2) fm &3, mya T 3gam, =
gt s, fagefiore g 3gEm

(3) =, FHEw e 3E,
faefiurer uda geam, mae i
ELRIE|

(4) e a3, arya wdE 3gm, fameae
TP 389H, T9ETT TYH IgTH

45

93.

(3) Both

Who is known of “Father of Indian

DNA fingerprinting”™ is ?

(1) Lal Singh Ji
(2) Lal Ji Singh
(3) Krishnamurthy

(4) S.K. Menon

Which relation can be established with

help  of  Mitochondrial ~ DNA
fingerprinting ?

(1) Disputed Paternity

(2) Disputed Maternity
Disputed Paternity and

disputed Maternity

(4) None of these

If one traverses from West to East in
India, which one of the following is
the correct sequence of National Parks
(from West to East) does he observe ?
(1) Madhav Park, Gir
Forest, Simplipal National Park,
Namdapha National Park

National

(2) Gir forest, Madhav National Park,
Namdapha National Park,
Simplipal National Park

(3) Gir Forest, Namdapha National
Park, Simplipal National Park,
Madhav National Park

(4) Gir Forest, Madhav National

Park. Simplipal National Park,

Namdapha National Park
o



94.

NS
:Jl

96.

97.

frefafea f d sm o wem ad 2 -

(1) drhE &1 fagia, 31 % ameq-
Y2 8 Hafid 2 |

(2) <iITE w1 firgha, =afrare & faw
H Hefyq 2 |

(3) @TE ® fagi, Wifas e &
e fafmg | gafa 2 |

(4) ©h1E 1 firgia, Haa gaey €
9o | Gefug 2 |

fr=fefen & @ w7 w1 ater g 6
Trs % fore wd 78 2

(1) #=ffs fafy

(2) =@ fafa

(3) gt fafy

(4) Torm-ziy fafy

O el i HEA & e § 5 aa
Tl werar 8 2

(1) feumenssen

(2) YHTE I B0

(3) =rdie % wwy difeq s gqema &

4) w4t gearud W an & ghw
e

HEIq 91 g9 B¢ T8 W q9 399 21
8, 94 T Hid W 9o ¥ frefefad 30
Bl 2

5-25 $1e / Yepvg
30-60 6ie / e
50-70 6 / v
75-95 612 / Tgpve

46

28
r[=

o
®

o
=

Which one of the following statement

is correct ?

(1) Locard’s principle of exchange
deals with exchange of data.

(2) Locard's principle deals with the

law of individuality.

(3) Locard’s principle of exchange

deals with mutual exchange of

material evidence.

Locard’s principle states that only
likes can be compared.

Which of the following is not the
method of search for clues at the erime
scene ?

(1) Spiral method

(2) Wheel method

(3) Strip method

(4) Criss-cross method

Blood stain pattern analysis does not
reveals

(1) Directionality

(2) Angle of impact

(3) Relative position of vietim and
assailant at the time of blows

(4) Exact number of blows in all
crime scenes.

Medium  velocity impact  spatter

consists of bloodstrains produced on a
surface when the blood source has
been subjected to a force at a velocity
between approximately

(1) 5-25 feet/second
(2) 30-60 feet/second
(3) 50-70 feet/second
(4) 75-95 feet/second

ol
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xmeny

98.
fﬂﬂgc ';'a_'_
| the &
G
nge *¥
of @
4

0l

-

Y T 6 fepifen 3 fu g da | 98 Which of the following methods are
fera fafls =1 3w fosan sy 27 used for recording the crime scene ?
1. i‘]{q 1. Notes
2. 2. Sketches
3. difzammd 3. Videography
4. SH BIRUTE 4. Drone Photography
Hi= feu v Fiz = €T FOF TE ST I Select the correct answer using the
3 ’ | codes given below :
e - ; Codes :
(1) 13f2 | ) T
: i
() 1.2 33 Q—,-E#!E? (2) 1,2and3
. L (3) 1,2and 4
(3) 1,234 i 45 7, Sl
i » 2, 3 an
4) 1,2,33f4 | |
|
i
: : i 99.  Which one of the following pair is not
fefafgadasm A @@ and | g1
A T AR 7 i correctly matched ?
(1) 45, IEA-fses mamd) ; (1) 45, IEA-Expert Testimony
(2) 293, Hamhdt — A fOE | (2) 293, CrPC — Scientific reports
=T § T e ; admissible in the court
i
(3) 184, Hi3TdtEl — qford qBare ; (3) 184, CtPC — Police Inquest
(4) 376, FmEdER — wETERR & o | (4) 376. IPC — Punishment for rape
] |
i
: © 100. In crime scene reconstruction, the
. 3T g9d qAfafer 8, = w5 9dl A ;
& - 3, o % correct order of stages is an under
" i (1) Data collection,  Conjecture,
() g =W, I, :‘_‘EE;E“ } Hypothesis formulation, Testing
e, wiieu 3t fergia &I ; and Theory formulation
U | } (2) Data  collection,  Hypothesis
(2) T @, UieRewl  FEHIH, ! formulation, Conjecture, Testing
A, e i fagia o | ; and Theory formulation.
(3) fthe CRiEzu 37 HmRE, (3) Hypothesis formulation, Data
¥ ) ; ? i . . y .
S, qhe 3k f & | i collection, Con‘iect}n e, Testing
e . ! and Theory formulation
(4) AR AL, @ZI g, E (4) Hypothesis  formulation,  Data
qha, ST st fagi dam ; collection, Testing, Conjecture
ST | 1 and Theory formulation
a7 (8
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